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A siraight angle contains o et :"}Fx/ LW
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Aren of seri-circle is e bn I id | (2}
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The median of a trizugle are B tbs s | (3)
4 (D) Noncollinear k% ¢ (C) Collinear (% (B) Concurrent & 74850 (A)

Poiﬁts on the negative x-axis have nepative q-—(.-; w8 4 4 & d" (¥)
Fraction / (D) Value =d (C) Ordinate &k4T (B)  Abscissa Lot (A)

d=/(xp=x1)% + (y2=y1)? iscalled ‘.‘-“‘ffd =(xa=x)2 + (v—y)2 | &)
Equal point b(fs+ (D) Non~collingar points s # (C) Collinear points 437 (B) Distance formula S¥.be6 (A)

Area of s square with side’ §” is etnd bn's BB AS | (©
M 25 © 45 (@) s W

Va = a'/™ isasurd oforder spn¥ Ya = al/m s | (D
| a (D) 1/ (©) a (B 1@

(@a+bY +(a-bf="? A _ G@+b)+Ga-vy=1| @&
2a’+b) (0} o™+b (©) -4sb (B) 4ab (A)

Factorization £ =12t + 36 £-12t+36 ZE¢f | O
(t+36) (®) (620" (© G-6¥ (B) (t+6) (A

Product of two expressions = = /N WM A (10}
LCM Jioiis (8) B.CF e (W
BCFXLCM (b x fidess 0  HCF+LCM P+ i (©

I£15>10and 10> P then 15— P v 15— P J10>P s15>10 /1| (11)
2 etz @) <Sadeihe (© > clzae B) < ctfe W

Quadratic formala is ¢ ShenlaGon | (12)
bR @ A cbeliode gy cbafbhie

Ifx,v,z €ER thenx>yundy>z = x>ziscalled ' +Jﬂé/x>z & y>z sl x>y ;x,,y,zER I a
Transitive property weboes™ (B) Trichotomy property et (W
Multiplicative property =i}~ (D) Additive property =eb3% (C)

The orderof [4 7]is 204 7] 8
4x7M)  1x1 (O 1x2(B) 2x1 (4

In figare 2a and £D are called v a WL LbatLa U:LP (15)
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Corresponding angles &-sts Ft5 (B) Vertical angles &sti(51s (A)
Adjacent angles <-sliJe (1) Alternate angles &-st3Js% (C)

108 (Obj)-12021~-50000 SEQUENCE-4  (PAPER CODE- 7267)




10" CLASS ~ 12022

’fDG‘I « .

2210 = =5 (sl ) 285 0 GENERAL MATHEMATICS (L) 2
60 = AF D(ﬂ K’(;' ﬂ"a@\ th 2 o0/
Q. No.2 Write short answers to any Six of the following 2x6=12 - Jutlif‘!é:dmiéufbbcw 2 /le’
If P(O) = 2+ 22’ +x -1 , then find P(-2) . 2ot P2} I PO = 24 20 ex -1 S |
Rationalize the denominator ;1—\@ ' m 2 F | i
Define surds. Give an example S oLt/ S Aok | i
Factorize X — 14 + 5x x'—14 + 5x é‘j}; v
Factorize &' +a—3a —3 a+a—32-3 2"':‘57’ v
x—1,% +4x 3 u“”Lq,d/;Yb’L?J,c‘(Lf/” l?/,cf\yfc{(: c_—d] 3
Use factor theorem to determine if the first polynomial is 2 factor of the second polynomial x—1, x> +4x—5
Find HLC.F by factorization 3xy’ , 12¢’y' , 15%y’ Wyt iyt L 1sxy g Pl | vii
Find L.C.M by factorization X’yz, xy'Z , xyZ ®yz, XY'Z ) XyZ' éf}" Fidbatsss £ 2ok | viii
Define L.C.M _ sy E S | ix
Q.No.3  Write short answers to any Six of the following 26 =12 ’é-’;;; =z /f" Py "?:_.ufd’,j(gu 3Ly
Solve: 2(7x-6)=3(1+3%) 2(7x-6)=3(1+30 &S | i
Solve: VX — 1-10=0 Vx—1-10=0 &Sf | i
Define “ Linear Equation ” . Give an example é}dﬂ'ulé..y /'". & :A:(/Js iii
Write in standard form 2x=§+3 ' 2x=§+3 ;,-!u:‘_)"d;gu iv
Solve by using factorization method X ~8+7x=0 X-8+7x=0 2-’:;)’6)2’.;{4,« v
Write in standard form. Find the values of a,b,c. 2x+ ; X 2‘5(‘)""&4_":‘! a,b,c mz;’u:(ﬁwly/ 2% + -‘z— =x vi
Define skew symmetric matrix Za) St S &£ | vii
e L P T e PR R
If A-LS _i],B = [é _g] ,c:[é ;] thenshowthat:AﬂS—-C:[é "120]
| Find tho determinant A= ["i _:;] A= ["i __?3:] Lt | i
Q. No.;_ Write short answers to any Six of the following 6 =12 éd =2 AL a7 {4;4};},’,564: 4 A s
( Write the pair of supplementary angles from the figure f E,g Inludiig jfd’ i
| . /”/fw .
:1/6
___ﬁ_______. o BT = ovrerenen ) LA e J ABC = AFDEJi| i
IFAABC = AFDE,then BC= e, MLA = L
"—]—)e’ﬁn:;;acmnglc with figure et Ay S|
Define orthocenter 2-’:..4_1]7 S, |
Draw an equilateral triangle with length of each side is 6 cm. A 6 (Lu S Z,Q%CU'JUIUA/J:! v
Find the area of the rectangle 2 m long and 18 cm wide - e« & 188ug s w2 é(:“" ,}'JKJ:’}'V vi
The diagonal of a square is 14 cm. Find its area S B 25'_:(’1” JES g 145068, | il
Define collinear points - o/ g s | viii
Pind the distance between the points (2,1),(-4,3) (,1),(-4,3) e dobolr sl | ix
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NOTE: Attetupt any THREE questions from this part 8x73 =24 ZSIrf S etos )
Solve by formulas (3€ + 20)* (3£ —2m)* (38 + 2l - (38 -mm) S asnfrdi | (A -5 AU
Factorize x° -y’ x 2—_{"5/? B)

Solve x+2+vX =15 x+2VX =15 &S | W6 Ay
Find the square root of the following (t— i) L 4t + %)»f‘ 8 ¢+ t#0 ey ()"““{:'9 Ao )it | (B)

(AB) =B'A' SiZEudt B = ["’?l '3] , A= [2 6] A @-1.4dr
_— X 3 2 0 7 8
IfA= {7 8J , B = [”'2 _.oj , thenverify (AB) =B'A'
Solve by using Quadratic formula 105" - 5% ~15=0 105" —5x~15=0 2.’3: S 6,.,{ Gonsss | (B)
If A= [f i} then show that A™ A =1 Aths1 et A= [i i] A | -8 AU
Zg.b:afbmhfcmuﬂc SBA nFF iy B ViolnBE =4em sl mAR =3¢ém uﬁu”é..(:ABC L | B)
In a right triangle ABC, mAB =3 cm and mBC = 4 cm with right angle at B. Draw a circle through 4., B and C
il 1 F12FE g SEE 2 B30 36 41U i sds | (-9 U1
The sides of a triangle are 15 cm, 36 cro. and 39 cme. Show that it is a right angled triangle
JBIA C4,3) M B(6,2) , AZ,4) b Gt | (B)

Show that the points A(2,4), B{6,2), C(4, 3) are collinear
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If x — a is factor of P (x), then P (a) = P ()ind /o2 P (), x-a Ji
a (D -a (C) 1 (B 0o W

The number of methods o find H.C.F are. \ oA SUFPLLS g Isb
3Mm 2 © 1/ (B) s W

erJ¥ |x-3|-5=0

Solutionof | x—3[-5=0is8
-8,2} (D) {8, 23(C) {-8,-2}/ (B) 8,2} W

Factorization of 2x° = 3x | A8 ¢ = 3x
2¢-3x (C) (2x-3x (B) o W

In matrices (AB) " =? (AB)' =2 £ LUl
B' (B Al W

.| Angle in semi circle.......... VT S T
120° 180° (B) 190° (A

Son? 1‘4,!75{.....(—//&!4}5»[./’!)!} l’,gall
Chord Js (B)  SecantLine ¥k (A

"| Astraight line that intersect a circle at two
Center ¥, ¥ (D)

.| The number of medians in a triangle is. -Gl dugisL e L
4 M3 @ 2 ® 1 W
The angle bisector of triangle are. -4(31!:!»7 SustLludt L
3 M 4@ 2 ® 1 W
A point in 4th quadrant has its, ordinates. -4,8::.-26.».&5/&#80‘;:&;&4
S 1 Negative ¢* (B)  Positive =2 (A
Area of a semi-circle is -4.,9';6’-]00‘7
@ At ® T0

Volume of cube with edge £ s r € ubft'ufrlf.,/{..fl
3¢ (B £ W

(a+bf’ - (@b¥ =7

4ab B) 2@ +bv) W

—asba=a"lis

) 1(B) Zero (A)

L-y'=1

xyry?) D) Gy Olay+y) (€ Gey) OPxy+y?) ® i) W
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(a+b)* - (@bl =17

a’+b?> (D) -4ab(C)
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‘Q.No.2: Write short answers to any six of the following  2x6=12 é{f O 4 /3 L,lzlgz,u:d;c» 2/ dlr

., Ay AP0 £L x=072P00 = X' +3 ¢~ 5x +9/]
If PGO= x*+3 %%~ 5 x + 9, then find P0Q), for x=0

s

Define Algebric Expression. Ey A8 A | i
Simplify (5 - v5) (V3-2). , (5-v5) (V3-2 ).é/‘? iii
Factorize £ —12t + 36 ‘ —t+s EGA | v
Resolve into factors 4a” + 4ab + b* - 9¢” - 4a° +4abf b° -9 Sk sz |V
Factorize 1€ - 81 -1 LA | vi
Define H.C.F £y 8P | vi
Find L.C.M of 2ab,3ab, 4ca 2ab/3ab,4ca Zp# Fiowsus | vii
Find H.C.F ar\sx“yz 124, 16x°y 3y, 120", 15X’y ér}”,f’ b¥ksen | ix

Q.No.3: Write sho\@swers to any six of the following 2x6=12 % Felig F Lz g Silibn 340y

What is meant by Absglute Value? Sl 4_:»20“'
Solve 9x-3-3(2x%x8)=0 9x-3-3(2x-8)=0 éd’
Solve 3(x-2)<2x+1 3Gx-2D<2x+1 &S
' Solve (2x+1)(5x—4)=0 @x+D(x-8)=0 &S

.é{i o N P

Write down the quadratic formula)
Solve by factorization 3 x”+8 = 3x?+8=10x éd'd;c’ggup
Define Skew symmetric matrix. Eoyil w2

3 —2] = [—3 ‘2] ér}":#' i

1

EprAGeeain=2 54|

Find transpose B= [

If A= [6 ] then find det A

vii
viii

Q.No.4 : Write short answers to any six of/ée followix\ 2x6=12 ,ég/’ O 4 /'; Liz l{c—d’-gb{w 4 /dlr

Define Adjacent angles? .é...z Y Jé_JbJ"

.ér}"w’!d i,g,h
P E 89

Define altitude of a triangle. ,é...!/'(f LS "
Draw an equilateral trigngle each of whose side is 5.3cm & ):Jy 5.3 ¢S 4'&.)' b#ﬂd,l/uf
b=5,c=61,a=7 17 calPinda,b G P T AV it

Find the value of i, g, h

Define chord of circle?

o 2 3 o 3 Qg pea PO Fu oAl
Find the volunie of a rectangular box with length 4m, breadth 3m and height 2
Locate the points on number plane. (-8, 10) (-8, 10)é B4 G475

Find the dfstance between the points. (a,-b),(b,-a)  (a,-b),(b,-a) ..é“r."'s(ﬂkl,éﬁﬁ

Find the third side f a right angle triangle with legs ‘a’ and ‘b’ and hypotenuse c. b=5c¢c=61a=? |

vii

viii
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Note: Attempt any three questions from this part. 8x3=24 -éd' dlruf céi’gﬁ/‘fl o )
E S -y In xy=-18 4l X+y?=86/1 | WLy
If x’+y? = 86 and xy = -16 find the value of (x - y)’
Factorize 64 X' —xa®° X —xa® 57 | ®
Find L.C.M. of X’ — 49 and X~ 4x— 21. ,érl’"f law,/s?‘- 49 51 X 4x-21| (W 8,y
Solve x = 15 -2 VX -15-2v% & J| ®
6x-28=20x | ES e 3pL8,0°5 | W1y
Solve by completing square method 5x’—28 = 20x
[xjss 3y1__ 4] ; | _23 ;] flé(}" ‘vl X | (B)
Find X andy if ["_’“33 3y1_ 4] =
Solve, using matrix inversion method. WsAUr |-
& L oy ®)
Draw an equilateral triangle each of whose side is 5 .
tenf. Ao T B 4B 2 1552 W iy

A ladder 17m long when set against the wall
height of 15m from the ground. How far is the |
the wall?

sk c(4,3) B@6,2), AR WS L

Show that the Points A (2,4), B (6,2) and (4, 3) are collinear.
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